5 —_—,—— e — — —
315 T RT & 4~ x
5 9 =2x g &  8—X
x4+ 1 ¥+1 x+1  x+1
5x 15 _ 5x+15 _Sx+3)
[ x+3+x+3_ x+3  x+5
3x, 3(x —2)
9. [3x(x =-2)
LCM = 3x(x — 2)
2%,:20x —3)
11.| 2x(x — 5)
LCM = 2x(x — 5)
X
X
13.x(x - 5)(x + 5)

¥ =25=@x+5)Hx-5)
LCM = x(x + 5)(x — 5)

D; 3x? — 9x = 3x(x — 3)

1252

15.D 6x? = 2(3)(x?)

LCM = 6x%(x — 3)

8 S5 _ 8 4 35 3x
17 32 — 15x I A 3y 4 4x 3x

32 15%:, 32—"]15x%

12x2 1222 1242




12 3 _ 12 " 3
xX+5x—24 x—-3 (x+8x—-3) x-3
_ 12 3 ,xt8
X — X — +
L 3+ 12) (58 —3). ~.¥—3 4B
T+ 8)x — 3) v 12 3x + 24
(x+8)(x—3) (x+8x—13)
o 3x+36 3+ 12)
T )x—3) (x+8)x—3)
9 + 2x 9 I ol 2x Jx=3
x—3 x+1 x-3 x+1 x+1 x-3
91 2624 3¢+ 9 _. 5+9 2x? — 6x
x4 iy — 3) —3)x+1) * GE—3)x+ 1)
22+ 3x+9
T x=3)x+ 1)
—15% 12 _ —15x 4 12
M—8+16 x—4 (x—4Hx—-4) x—4
_ —15x 4 12 x—4
T —dhHx—4)  x—-4 x-—4
—15x 12x — 48
23.0—,) (x—4)x—4) (x—4)x—4)
(x — 4)
_ —3x—48
(x — 4%
—3(x + 16)

(x — 4y







